DOC NO:ELDD/3646 Pt. " Page 1 of 1
okl LATEGORY AMENDMENT FOR 3 PHASE LOCO

AMENDMENT NO.: 1082

AMM/3PL
CLW/CRJ

Sub: Category Amendment for 3 phase Loco.

Please incorporate the following amendment sheet for the said loco. This is for your kind information and necessary action may please be taken from your end.

sL Qry/ QTY/LOCO
PL. NO CAT. NO. & DESCRIPTION DRG/SPEC NO UNIT| C&D NO REMARKS
NO C&D NO | WAG-
WAP-7 | WAP-5
9HC
R/9/0163
Inspector Seat Assembly
1 NewPLNo for WAG-9, WAP-7 & 03 1Set | 18et | 1Set [New Category generated as per modification advice no.
WAP-5 locomotives. ELDD/3611/Pt. dated 03.09.2024 with immediate effect.
Note:
Procurement quantity as per loco production target.
; T308/184 2
Inspector's Seat Assembly 1209-08.031-301 01 B308/112 5 2 2 2
A. Stage Inspection Required(Yes/No) :- Yes
B.No. of stages with description of each stage(NA/1/2/3) :- 1 (Raw material stage excluding final inspection as per drawing and specification) g |
E
C.Warranty period(in months) from date of delivery :- As per IRS Condition ‘

Copy to:
1.CEE/Loco  2.Dy.CME/ELA  3.Dy.CMM/M-Il 4. Dy.CMM/Depot 5. Dy.CEE/I&D/HWH - . Dy.CEE/I&D/DLI 7. CQAM 8. SSE/Doc (Mech)

< Moodal ) s
0‘(;?0’-?‘ 04 650929 /%',9(&‘,& y\‘”
Prepared by Checked by Reviewed by Issued by
JE/D SSE/D SEE/Design Dy.CEE/D-lII



DOC NO:ELDD/3646 Pt.

CATEGORY AMENDMENT FOR 3 PHASE LOCO

DATE: 11.09.2024

AMM/3PL
CLW/CRJ

Sub: Category Amendment for 3 phase Loco.

Page 1 of 1
AMENDMENT NO.: 1084

Please incorporate the following amendment sheet for the said loco. This is for your kind information and necessary action may please be taken from your end.

sL Qry/ grvitogo
PL.NO CAT. NO. & DESCRIPTION DRG/SPEC NO UNIT| C&D NO - REMARKS
NO , C&D NO| WAG- [ .~
- sic. | WAR7 |wap:5
L/9/0018 - % Alteration No. of Specification chanéed from 'F' to 'G' as
Distance Bolt per amendment advice no.ELDD/3645 dated
Eq. Mounting, Roof 10.09.2024 with immediate effect.
1 | 29300137 L i Jam CLW/ES/3/184 03 1Set | 1Set | 1set
Cable lying, Alt.-G
Connection,VB, VC,
Testing Section)
All other items will remain same.
L/9/0018A Alteration No. of Specification changed from 'F' to 'G' as
2 |NewPLNo.| Distance Bolt for Panel c“"’f\ fS/ 3/184 03 1Set | 1set | 1set |per amendment advice no.ELDD/3645 dated
R k4 10.09.2024 with immediate effect.
All other items will remain same.
L/9/0043 Alteration No. of Specification changed from 'F' to 'G' as
3 | 29300150 | Distance Bolt for ELAAU/ C”"’f\ fS/ /188 | o3 1set | Nil | Nil |per amendment advice no.ELDD/3645 dated
Dankuni t.-G 10.09.2024 with immediate effect.
All other items will remain same.

Copy to:
1.CEE/Loco 2.Dy.CME/ELA 3.Dy.CEE/EL  4.Dy.CMM/M-ll 5. Dy.CMM/Depot 6. Dy.CEE/I&D/HWH

< Momodal (@, _ fnij’v\\;m
”'03 bf”tl Che keé[bdq' By

Prepare y Reviewed by
JE/D SSE/D SEE/Design

7. Dy.CEE/I&D/DLI  8.CQAM 9.8SSE/Doc (Mech)

g& avh

Issued by
Dy.CEE/D-llI



(

DOG NO:ELDD/S648 Pt . CATEGORY AMENDMENT FOR 3 PHASE LO

(5 0)

DATE: 30.09.2024

AMM/3PL
CLW/CRJ

Sub: Category Amendment for 3 phase Loco.

Page 1 of 4

AMENDMENT NO.: 1086

Please incorporate the following amendment sheet for the said loco. This is for your kind information and necessary action may please be taken from your end.

SL Qry/ QTY/LOCO
NO PL. NO CAT. NO. & DESCRIPTION DRG/SPEC NO UNIT| C&D NO c&Db No | WAG- REMARKS
WAP-7 | WAP-5
9HC
M/9/0026
Set of Spring Washers for CLW/MS/3/085 . .
1 (29350130 ELAAU/DKAE Alt8 03 1 Set Nil Nil
( Consisting of 07 Items)
HELICAL SPRING LOCK IS: 3063 Type B Qty. per C&D have been revised as per amendment
WASHER Spr. S. Zn. Plated | 01 | T307/164| 122 122 Nil Nil  |advice no.ELDD/3645/Dankuni dated 26.09.24 with
TYPE B M8 (Passivated) immediate effect.
HELICAL SPRING LOCK IS: 3063 Type B Items included as per amendment advice ;
WASHER Spr. S. Zn. Plated | 01 | T307/155 12 12 Nil Nil  [no.ELDD/3645/Dankuni dated 26.09.24 with immediate
TYPE B M6 (Passivated) effect.
All other items will remain same.
M/9/0027
Set of Bolts Hex. Head for ) ;
2 129300125 WAG-9HC for ELAAU/DKAE 03 1 Set Nil Nil
(Consisting of 17 items)
HEX. HEAD BOLT 1S:1 G Items included as per amendment advice
M16x130/44x = isﬁgfég? “Al 01 |T304083| 2 2 | Nil | Nil [no.ELDD/3645/Dankuni dated 26.09.24 with immediate
2 P Zn. Plated (Passivated) B effect.
All other items will remain same.

S.M v\nl.nl b Q)—}MQ‘/'
20.09.24 & Uikl / !%v«;
Check

Prepared by d by Rewewed
JE/D SSE/D SEE/Design

\-\\"
Issué?j
Dy.CEE/D- |||




DOC NO:ELDD/3646 Pt.
DATE: 30.09.2024

CATEGORY AMENDMENT FOR 3 PHASE LOCO

Page 2 of 4
AMENDMENT NO.: 1086

sL Qry/ QTY/LOCO
NO PL. NO CAT. NO. & DESCRIPTION DRG/SPEC NO UNIT| C&D NO c&p No | WaAG- REMARKS
WAP-7 | WAP-5
9HC
M/9/0028
3 129330130| Set of SCREW HEX.HEAD 03 1 Set NIL NIL
for ELAAU/DKAE
(Consisting of 09 items)
, Items included as per amendment advice
HEX SUREW M10x3501 6P |1S:1364-S BB 6L Al 6 |-umspian | - a5 32 | NIL | NIL |no.ELDD/3645/Dankuni dated 26.09.24 with immediate
Zn. Plated (Passivated) to IS:1367 offect
. a5 Qty. per C&D have been revised as per amendment
HEX SCREW M8x16x1.25P |15:1364-58.8 Gr. A| o, l1a07078| a2 82 | NIL | NIL |advice no.ELDD/3645/Dankuni dated 26.09.24 with
Zn. Plated (Passivated) to 1S:1367 : ;
immediate effect.
; s Qty. per C&D have been revised as per amendment
AEXBEREW MOl R (ErCS RO R BE AL oy Lrsiime) | 24 | oNE | iR e EEDDIE Barri! doted B
Zn. Plated (Passivated) to 1S:1367 ; :
immediate effect.
HEX HD. SCREW 1S:1364-5-8.8 Gr. A Qty. per C&D have been revised as per amendment
M8x25x1.25P ’ A ' 01 | T242/092 22 22 NIL NIL [advice no.ELDD/3645/Dankuni dated 26.09.24 with
; to 1IS:1367 : .
Zn. Plated (Passivated) immediate effect.
Items included as per amendment advice
HEX HD. SCREW M6x16x1P |1S:1364-S-8.8 Gr. A T303/029 4 ) iJelof ]
Zn. Plated (Passivated) t0 1S:1367 01 T303/053 8 12 NIL NIL g?féEclt_DD/3645/Dankum dated 26.09.24 with immediate
All other items will remain same.
M/9/0029
Stn. steel Hardware Items CLW/MS/3/040 . .
4 129400247 for ELAAU/DKAE Alt 15 03 1 Set Nil Nil
(Consisting 30 items)
Items included as per amendment advice
SCREW HEX HD. T307/246 6 : ) ‘ . L ;
M5X16x0.8 P 182-00225-003 01 T309/160 6 12 Nil Nil 21?f.eilt_DD/3645/Dankun| dated 26.09.24 with immediate
Items included as per amendment advice
SCREW HEX HD. 182-00057-002 . . . S :
M10X25x1 5 P 182-00051-002 01 [T307/233 16 16 Nil Nil Z?f.eECI;DD/3645/Dankum dated 26.09.24 with immediate
,z(u)"ﬂwlg ;
D6 .69+ 2 4 qu:04 2 ol 20
Prepared by Checked by Reviewed by Issued by
JE/D SSE/D SEE/Design Dy.CEE/D-llI



DOC NO:ELDD/3646 Pt.
DATE: 30.09.2024

(
CATEGORY AMENDMENT FOR 3 PHASE LOWO

Page 3 of 4
AMENDMENT NO.: 1086

sL Qry/ QTY/LOCO
NO PL. NO CAT. NO. & DESCRIPTION DRG/SPEC NO UNIT| C&D NO c&D NO [ WAG- REMARKS
WAP-7 | WAP-5
9HC
Items included as per amendment advice
BV PAN HE. 182-00160-003 01 |C321/502 8 8 Nil Nil no.ELDD/3645/DaEkuni dated 26.09.24 with immediate
M5X12x0.8 P e
Items included as per amendment advice
Flat Washer M5 182-00062-003 01 [C321/503 8 8 Nil Nil [no.ELDD/3645/Dankuni dated 26.09.24 with immediate
effect.
All other items will remain same.
M/9/0030
Stn.steel Hardware Items CLW/MS/3/040 . :
5 [29400235 for ELAAU/DKAE Alt 15 03 1 set Nil Nil
(Consisting 33 items)
Items included as per amendment advice
HEX SCREW M16 X 30 SST|3EHP416001P1630| 01 6 6 Nil Nil  [no.ELDD/3645/Dankuni dated 26.09.24 with immediate
T035/159 effect.
Items included as per amendment advice
HEX SCREW M8 X 120 SST| NB312450P0327 | 01 2 2 Nil Nil  [no.ELDD/3645/Dankuni dated 26.09.24 with immediate
T035/164 effect.
ltems included as per amendment advice
HEX SCREW M8 X 130 SST| NB312450P0328 | 01 2 2 Nil Nil  [no.ELDD/3645/Dankuni dated 26.09.24 with immediate
T035/165 effect.
Items included as per amendment advice
HEX SCREW M10 X 40 SST|3EHP416001P1040| 01 36 36 Nil Nil  [no.ELDD/3645/Dankuni dated 26.09.24 with immediate
T035/151 effect.
Items included as per amendment advice
HEX BOLT M10 X 50/26 SST |3EHP416001P1050| 01 24 24 Nil Nil  |no.ELDD/3645/Dankuni dated 26.09.24 with immediate
T035/417 effect.
Items included as per amendment advice
HEX SCREW M12 X 45 SST|3EHP416001P1245( 01 4 4 Nil Nil |no.ELDD/3645/Dankuni dated 26.09.24 with immediate
T035/157 effect.
Items included as per amendment advice
HEX SCREW M10 X 60 SST|3EHP416001P1060| 01 8 8 Nil Nil  |no.ELDD/3645/Dankuni dated 26.09.24 with |mmed|ate
T035/461 effect.
= Mo‘\r\pl.n.—a & olc,q.'l‘f pg K,;"\\n
Prepareg by Cheeked by Reviewed by Issued by
JE/D SSE/D SEE/Design Dy.CEE/D-III

(467



DOC NO:ELDD/3646 Pt.
DATE: 30.09.2024

CATEGORY AMENDMENT FOR 3 PHASE LUCO

Page 4 of 4
AMENDMENT NO.: 1086

sL Qry/ QTY/LOCO
NO PL. NO CAT. NO. & DESCRIPTION DRG/SPEC NO UNIT| C&D NO c&D No | WAG- REMARKS
WAP-7 | WAP-5
9HC
Items included as per amendment advice
HEX SCREW M16 X 70 SST|3EHP416001P1670| 01 2 2 Nil Nil |no.ELDD/3645/Dankuni dated 26.09.24 with immediate
T035/957 effect.
Items included as per amendment advice
HEX SCREW M10 X 35 SST|3EHP416001P1035| 01 6 6 Nil Nil  |no.ELDD/3645/Dankuni dated 26.09.24 with immediate
T035/150 effect.
Qty. per C&D have been revised as per amendment
HEX NUT 0.8 D, M16 SST | NB332600P0515 | 01 18 18 Nil Nil |advice no.ELDD/3645/Dankuni dated 26.09.24 with
T035/111 immediate effect.
Qty. per C&D have been revised as per amendment
HEX NUT 0.8 D, M10 SST | NB332600P0513 | 01 251 251 Nil Nil |advice no.ELDD/3645/Dankuni dated 26.09.24 with
T035/109 immediate effect.
All other items will remain same.
M/9/0031
Flat Washers for CLW/MS/3/087 : .
6 [29350712 ELAAU/Dankuni A6 03 1 Set Nil Nil
(Consisting 07 Items)
Items included as per amendment advice
FLAT WASHER.S G 182-00044-005 01 U2 5 12 Nil Nil  |no.ELDD/3645/Dankuni dated 26.09.24 with immediate
Plated (Passivated) T307/264 6 effect
All other items will remain same.
Copy to:
1. CEE/Dankuni  2.Dy.CME/Dankuni  3.Dy.CEE/Dankuni 4.Dy.CMM/M-II 5. Dy.CMM/Depot 6. Dy.CEE/I&D/HWH 7. Dy.CEE/I&D/DLI 8 AWM/PLG/Dankuni
9.SSE/Doc (Mech)

Q'Mcwct.n-t

024
o g e
Pre%greé‘ byu" C&ed by
JE/D SSE/D

A
203 P

Reviewed by
SEE/Design

Fer

Issued by
Dy.CEE/D-lII

%60



